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QUESTION 1

Which protocol should be configured to allow NetEdit to discover third-party devices?
A. SNMP

B. SSH

C.HTTPS

D. HTTP

Correct Answer: A

QUESTION 2

How is NetEdit installed at a customer location?

A. Via an Aruba NetEdit hardware appliance

B. Via a DVD using a virtualized platform like Microsoft\\'s Hyper-V
C. Via the Aruba Central cloud solution

D. Via an OVA file and a virtualized platform like VMware\\'s ESXi

Correct Answer: D

QUESTION 3

A network administrator is implementing OSPF, where there are two exit points. Each exit point has a stateful,
application inspection firewall to implement company policies.

What would the best practice be to ensure that one firewall will see both directions of the traffic, preventing
asynchronous connections in the network?

A. Both ASBRs should define External Type 1 routes for the
B. Both ASBRs should define External Type 1 routes for the
C. Both ASBRs should define External Type 2 routes for the
D. Both ASBRs should define External Type 2 routes for the

Correct Answer: A

QUESTION 4

What would prevent two OSPF routers from forming an adjacency? (Select two.)
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A. Different priorities

B. Different area types
C. Different MTU sizes
D. Different IP addresses
E. Different router IDs

Correct Answer: BC

QUESTION 5

Which statement is correct regarding ACLs and TCAM usage?

A. Applying an ACL to a group of ports consumes the same resources as specific ACE entries
B. Using object groups consumes the same resources as specific ACE entries

C. Compression is automatically enabled for ASIC TCAMs on AOS-CX switches

D. Applying an ACL to a group of VLANs consumes the same resources as specific ACE entries

Correct Answer: B
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